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MM-60
Q-1 Answer the following Questions:
a) Define 

i)
Meta Data

ii)
Data Warehouse



2
b) Name two database tables used to maintain Payroll system.





2

c) Compare Freeware and Free Software.







2

d) What are the following software used for:

i. Mozilla

ii.
Apache





2
e) Explain any two stages of Software Development Life Cycle.




2
f) Identify the relationship represented by the following statement and draw an entity relationship diagram to show it.

 “ A person may be on one or more junk mails lists. Each junk list may contain one or more persons.”











2

g) Expand the term OSS.










1

h) What is the purpose of data mining.








2

Q2. Answer the following Questions

a) “Visual Basic is not an Object Oriented Language” Justify this statement.



2
b) How is a standard module different from a form module? Explain with example. 



2
c) Why do we need Control structures? mention the classification of Control structures With Syntaxes ? 2
d) Write difference between Fix() and Int() functions.






2

e) Write characteristics of MDI Child Form.







2

f) What do you mean by Arranging Child Windows. Write syntax and values for the same.


2

g) Explain IIF() function with the help of an example.






2

h) What is ADO data control? To whom you can connect this?                          



2
i) What do you understand by the term Record Source of an ADO data control? 



2

j) Distinguish between call by Val and call by Reference  in visual basic.




2
Q-3
a). Convert the do while loop into for next loop without affecting its output.



2

i = -10

do while i <5


If i mod 2 = 0 then



Num = num + i


End if


Print num

i = i - 3


loop











b). Convert the do loop until into for next loop without affecting its output.



2

    Dim count, ans

    Ans=5

    Count = 25

    DO 

        Ans = ans + Count

        Count = count – 3

         Print Ans*Count;

    Loop Until count <= 8

    Print ans;
c). Find the output of the following code segment:







2

         dim st as string, s as integer, t as integer

          st =MID (“Year of Luck 2009”,14,4)

          s =Val(MID(st,1,1))* Val(MID(st,4,1))

          t = Val(MID(st,1,1))+ Val(MID(st,4,1))      

           print s*t;

d). Re-write the following using If Else Structure:







2

Private Sub Command2_Click( )

n = InputBox("enter", "Number", 0)

Select Case n

Case 90 To 100

grade = "A"

Case 75 To 89

grade = "B"

Case 60 To 74

grade = "C"

Case 45 To 59

grade = "D"

Case 33 To 44

grade = "E"

Case 0 To 32

grade = "F"

Case Else

MsgBox "Out of Range"

End Select

Print grade

End Sub

e) Find the output of the below VB program 
      







 2

Private Sub Command 1_click()

Dim sum As Integer

Const a As Integer = 10

sum = 0

For i = 4 To 1 Step -1

sum = sum + i

Do Until sum > 50

sum = sum + a

Loop

Print sum

Next

End Sub

f) Find the output of the below VB program 
        







2
Sub showe(a As Integer, c As String)

Print a, c

a = a + 1

End Sub

Private Sub Command1_Click()

Dim i As Integer

i = 1

Do While i < 9

If i < 3 Then

Call showe(i, "@")

ElseIf i < 7 Then

Call showe(i, "#")

Else

Call showe(i, "*")

End If

Loop

End Sub

g) Find the output of the below VB program 
        






3

Sub one(a As Integer, b As Integer)

Print a, b

a = a + b

b = a - b

a = a - b

b = a + b

If b < 10 Then

Call two(a, b)

End If

Print a, b

End Sub

Sub two(ByVal a As Integer, b As Integer)

Print a, b

a = a + b

b = a - b

a = a - b

b = a + b

End Sub

Private Sub Command1_Click()

Dim x As Integer, y As Integer

x = 3

y = 4

Call one(x, y)

Print x, y

End Sub

Q-4 ABC Industries computes yearly Income Tax of their Employees using the above interface. The general

features of the interface are as follows :
a. The net salary is computed as soon as any amount is entered in the text box for deduction (txtDeduction). The net salary is the difference between Gross Salary (txtGross) and the deduction. The same is visible in the text box txtNetSal.












2

b. The income tax is calculated by a VB function IncomeTax() that accepts the parameters netsal (long) and gender (integer) of the employee and returns the income tax which is displayed in a message box when ever the Calculate Income Tax Button (cmdTax) is clicked.

(eg: Mr/Ms <txtname> Your Income tax is Rs 2500). The limits and range for Income tax calculation is as follows:

Below 1,50,000


 – Nil

1,50,000 to below 2,50,000 
– 10% of Net Salary

2,50,000 and above

 – 20% of Net Salary

Special rebate for Ladies: Rs 5000 on Net Tax.

Write the codes under specific events for the above requirements.





4

c. Write a code for txtsalary_change so that user can enter only numeric value and greater than zero value in the textbox.







2

d. Write a code for form load event to disable the txtgross textbox and option button as male as default.

1

e. Write a code to clear the txtname textbox and txtsalary textbox.





1
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